o2 & HFE2] 29t A2 ol AJY7R
® 240a =2.4ha @170000 m?=17a
® 0.2km? = 20 ha @ 5.9ha = 59000 m?

® 35000a = 3.5km?

@ 170000 m? = 1700 a
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Mo Wt 7] 87 +4 =21.75 °C
A7Zol W 7|2 1 79+4=19.75 °C
w2tA A7127t 2°CcH BE Yt
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600 x 200 < 2 = 60000( m?)
= 6(ha) = 1(ha) = 6(7)
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(719 2] FA))= 70 x 15 = 1050( kg)
1050 kg = (1050 + 1000) t = 1.05
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ol @ F9 5 27L0) FAE nhaGUT s1Re] FA5
mL% ohA A 1A BrE g stel 2] A7k ek AL,

2.7L = 2700 mL o] B &
2700+ 7 = 385.7- -+ — 386( mL)




270 ¥t Ay 20 2] B7A Hwt 3t oA 187 Q] B5A 2
Bt 35.5kg 02 @Y AA BH-S ol B ¥h7sto] 36.1kg
©°

Qdutelr] wHEsiste] 44 34

= a

(g E7A9 B4
= (36.1 x 38 — 35.5 x 18) + 20 = 36.64(kg)
— °F 36.6kg




